
Find the pair of angles that are not complementary.4)

140, 760 470, 430 810, 190 620, 280a) b) c) d)

Which of the following is a supplement of 1220? 6)

580 380 280 480a) b) c) d)

Which of the following is a complement of 720? 2)

190 280 180 210a) b) c) d)

Which of the following is a pair of complementary angles? 5)

b)a) c)290

520 450 450
610

280

900900
450900

Which pair of angles is not supplementary?3)

b)a) c)
4501350
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Find the pair of angles that are supplementary.1)

920, 540 220, 880 1710, 230 1640, 160a) b) c) d)


